= YpOK-ayKLMNOH

No MaTeMaTUKe
4 knacc (YMK «FapmoHusa»)

[Meuepckas J1.A.
MBOY PsaxeHckasa cowl
PocTtoBckasa obnacTtb










VIHTepeCHbLIN
OKCMnoHaT




70 KM



1) 15%3=45 (Km)
2) 5%3=15 (kM)
3) 70-15=55 (kM)
55+45=100 (KMm)




1) 15x3=45 (Kkm)
2) 5x3=15 (Kkm)
3) 45+15=60 (kM)
60+70=130 (KM)




1) 15x3=45 (Km)
2) 5x3=15 (KM)

3) 70-45=25 (Kkm)
25+15=60 (KM)
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MacwtTabé 1cm: 1km
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OKCNoHaT
C Hen3BeCTHbIM



X+3+70+3=390
(70+X)*3=390
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1 mimun

~ 60 km/u
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3dadaHue

CocTtaBuTtb 2 3agayvum Ha
ABUXEHWEe U peLlInTb UX




